Anatomy II   Exam 3

Note: No questions appear on this test and also appear on the accompanying hormone chart)

Fill in the Blank

1.   __________ is the study of structure and function of endocrine glands    and the hormones they produce.

2.   __________ hormones go to __________ cells.

3.   Target cells have __________.

4.   The functions of hormones are __________,___________,_________,________

5.   Hormones fall into two basic categories, __________ and __________.

6.   The structure of a steroid hormone is ____________.

7.   Steroid hormones are derived from __________.

8.   Steroid hormones are produced in ___________.

9.   Five examples of steroid hormones are ______,_____,_____,_____,_____.

10.  Two main ways hormone secretion is controlled are ________, __________.

11.  The amount or concentration of hormones in the blood is regulated by

____________.

12.  The hypothalamus is located _____________.

13.  The hypothalamus is connected to the pituitary by __________.

14.  The hypothalamus contains ___________ cells.

15.  The pituitary is located ____________.

16.  The neurohypophysis is also called ____________.

17.  Milk letdown is an example of __________ feedback.

18.  The adenohypophysis is also known as the ___________ pituitary.

19.  The adenohypophysis is called the ____________ gland.

20.  GH causes cells to grow and undergo rapid ____________.

21.  Hyposecretion of GH in childhood causes _____________.

22.  Hypersecretion of GH in childhood causes _____________.

23.  Hypersecretion of GH in adulthood causes _____________.

24.  TSH is also known as ____________.

25.  FSH and LH are called ____________ hormones.

26.  The pineal gland is located _____________.

27.  Melatonin is produced during ____________ and suppressed by __________.

28.  The location of the thyroid gland is _____________.

29.  The thyroid is composed of hollow sacs called ____________.

30.  The follicles of the thyroid are filled with a glycoprotein called

__________________.

31.  The function of thyroglobulin is ______________.

32.  The thyroxine secreted by follicular cells must contain ____________.

33.  The disorder of the thyroid which produces cretinism in an infant is    __________________.

34.  If an adult has an underactive thyroid, this may result in __________     which is caused by too little iodine in the body.

35.  An overactive thyroid will produce too much thyroxine, which can result in _______________.

36.  Grave's disease is a ______________ disease.

37.  In Grave's disease, the body produces _______________ which bind with    _____________ on the thyroid.

38.  The location of the parathyroid gland is ______________.

39.  PTH, secreted by the parathyroid, is antagonistic to ______________.

40.  The location of the thymus gland is _______________.

41.  The pancreas is called a _____________ gland.

42.  GHIH is also called _____________.

43.  The most familiar disorder of the pancreas is _______________.

44.  Diabetes mellitus is caused by a deficiency of _____________ or its   influence.

45.  The lack of insulin or its influence leads to elevated blood glucose
     levels, or _____________.

46.  The lesser common form of diabetes is called _______________.

47.  Diabetes insipidus is caused by ________________.

48.  The hormones secreted by the adrenal cortex are __________ hormones.

49.  The secretion of hormones from the adrenal cortex is controlled by the    hormone ____________.

50.  The adrenal cortex is regulated by a negative feedback from the ______.

51.  Aldosterone is a _________________.

52.  Cortisol is a ______________.

53.  Estrogens and androgen are _________________.

54.  The specific estrogen secreted by the zona reticularis is __________.

55.  The specific androgen secreted by the zona reticularis is __________.

56.  The adrenal medulla has direct innervation by ______________.

57.  Most (80%) of the non-steroid hormones secreted by the adrenal medulla    is ____________.

58.  The components of the urinary system are ___________, _____________,    ________________, and ______________.

59.  The location of the kidneys is _____________.

60.  The ____________ is a transparent layer of fibrous C.T. on the kidney.

61.  The lateral surface is _____________, medial surface is _____________.

62.  The notch in the medial side of the kidney is the ___________.

63.  The hilum leads into the cavity called the _____________.

64.  The _________________ lines the renal sinus.

65.  The _____________ lines the outer surface of the nucleonic bipolar   juxtapositionary structure.

66.  The outer region of the kidney is ________________.

67.  The renal cortex appears granular due to ________________.

68.  The inner region is the ________________.

69.  The renal medulla is composed of _______________.

70.  The ______________ are where collecting tubules come together.

71.  _______________ lie between renal pyramids.

72.  Collecting ducts empty into __________________.

73.  Calyces combine and empty into a sac called the _______________.

74.  The ____________ is the functional unit of the kidney.

75.  There are approximately ______________ nephrons per kidney.

76.  Each nephron consists of _______________ and ______________.

77.  The renal corpuscle consists of ______________ and ____________.

78.  The glomerulus is a tuft of ________________.

79.  The tissue of the glomerulus is ________________ with large pores, or    _______________.

80.  The renal corpuscle is located always ______________.

81.  The fenestrae of the glomerulus are ____________ times more permeable    than most capillaries.

82.  ___________ and _____________ do not pass through the fenestrae.

83.  The blood which enters á�î�ä� leaves the renal corpuscle is ___________.

84.  _____________ is the hollow sac which surrounds the glomerulus.

85.  The tissue of Bowman's Capsule is _______________.

86.  The function of Bowman's Capsule is ______________.

87.  Bowman's Capsule connects to the __________________.

88.  The tissue of the renal tubule is _____________.

89.  The first section of the renal tubule is the ______________.

90.  The next section of the renal tubule is ________________.

91.  The Descending limb of the loop of Henle extends into the ____________.

92.  The next section of the renal tubule is _______________.

93.  The Ascending limb of the loop of Henle extends into the _____________.

94.  Both of the upper limbs of Don Henley are called ____________.

95.  The next section of the renal tubule is _______________.

96.  The portion of the renal tubule where several distal convoluted tubules    merge is the _______________.

97.  The two types of nephrons are _____________ and ________________.

98.  The more common type of nephron is _____________.

99.  The ________________ nephron has a long loop of Henle.

100. The ________________ nephron is located in the lower portion of the    renal cortex.

101. The ________________ is a region in each nephron where the afferent    arteriole and distal convoluted tubule come in contact.

102. The juxtglomerular apparatus has special cells that secrete ________.

103. Renin helps control ____________ and _________.

104. The three major functions of a nephron are ___________, ___________,     and _______________.

105. The wastes removed from carbohydrates are ___________ and _________.

106. The wastes removed from fats are ______________ and _____________.

107. The wastes removed from proteins are __________,__________, and_______.

108. The wastes removed from nucleic acids are _______, ______, and _______.

109. The wastes removed from all other substances are ________ and ________.

110. When gluconeogenesis occurs in the liver, an amino group is removed, or     _____________ occurs.

111. When an amino group combines with a H+, ____________ is formed.

112. The liver converts most of the ammonia to ______________.

113. The three components of urine formation are __________, __________, and   ___________.

114. ____________ is the movement of material from the blood through the   fenestrae of the glomerulus.

115. ____________ is the movement of material from the blood of the peritubular capillaries into the renal tubules.

116. ____________ is the movement of material from the renal tubules into the peritubular capillaries.

117. The substance which is filtered through glomerular filtration is called __________, ______________, or ______________.

118. Blood is _________ pressure in the peritubular capillaries.

119. The proximal convoluted tubule is _____________ to water.

120. _____ of the water is reabsorbed in the proximal convoluted tubule.

121. Drugs like penicillin, crack and marijuana are ___________ into the tubule.

122. To regulate pH, _______ are actively transported in each convoluted tubule.

123. The pH of blood is slightly _____________.

124. In the proximal convoluted tubule, ___________ are also reabsorbed by active transport until a threshold level is reached.

125. When excess glucose is reached, excess glucose in the urine results, or   _____________.

126. The filtrate in the proximal convoluted tubule is ___________ 

127. In the descending limb of the loop of Henle, _________ diffuses out.

128. In the descending limb of the loop of Henle, _________ diffuses in.

129. A total of _____% water diffuses out of the descending limb.

130. The interstitial tissue near the descending limb is ____________.

131. In the ascending limb of the loop of Henle, __________ is pumped out.

132. The loop of Henle is called a _________________ mechanism.

133. The concentration of the filtrate in the distal convoluted tubule is   ___________.

134. The two most important things about the loop of Henle are ___________ and ___________.

135. The portion of the peritubular capillaries which surround the loop of Henle is called the ______________.

136. The vasa recta is called a __________________ mechanism.

137. In the distal convoluted tubule, _____% of the sodium is actively transported out of the renal tubule.

138. The process described in question 137 occurs under the influence of ________________.

139. ___________ inhibits aldosterone, so less water is reabsorbed in the collecting duct.

140. As the remaining hypotonic filtrate passes through the collecting duct, remaining water to diffuse out.

141. The process described in question 140 is influenced by ____________.

142. ADH is inhibited by _____________, so the permeability of the collecting duct is lessened.

143. Approximately _________ of filtrate is filtered each day.

144. Approximately _________ of urine is produced each day.

145. _____% of urine is water.

146. The remainder of urine consists of _________________.

147. The color of urine is straw, yellow, or amber due to ____________ from bilirubin and bile breakdown.

148. The pH of urine is usually _________, and is __________.

149. A ____________ is a kidney stone.

150. A renal calculus will usually form from excess ____________ in blood.

151. A renal calculus usually forms where?

152. ___________ is uric acid crystals that deposit in the joints.

153. The fluid that leaves the collecting duct and flows into the calyces is   called ____________.

154. The tissue of the calyces is ______________.

155. From the calyces, urine flows into _____________.

156. The tissue of the renal pelvis is _____________.

157. From the renal pelvis, urine flows into ____________.

158. The tissue of the ureters is _______________.

159. The length of the ureters is approximately ____________.

160. The urine flows from the ureters into the ______________.

161. Urine flows through the ureters by __________ and __________.

162. The urine flows into the bladder through the _____________.

163. The mucosa of the urinary bladder is _______________.

164. The bladder holds approximately ________________ of urine.

165. The location of the bladder is _________________.

166. The mucosa of the bladder is in folds called ______________.

167. The muscularis of the urinary bladder is called _____________.

168. The bladder is innervated by the _______________.

169. Impulses from the ____________ cause the detrussor muscle to relax.

170. Impulses from the sympathetic division also cause the ___________ to  contract, causing the retention of urine.

171. Impulses from the _______________ cause the contraction of the detrussor muscle, relaxation of the internal urethral sphincter, and the expulsion of urine.

172. Urine leaves the bladder through the internal urethral orifice into the  ____________.

173. The urethra passes through the pelvic wall, or ___________.

174. At the urogenital diaphragm, the urethra is surrounded by the ________________.

175. The stimulation of stretch receptors in the bladder triggers the _______________ reflex.

176. The length of the urethra in a female is approximately _________.

177. The location of the urethra in a female is _______________.

178. The mucosa of the urethra in a female is ____________ near the bladder,  and ______________ for the remainder.

179. The length of the urethra in a male is approximately ____________.

180. The two functions of a male urethra are ______________ and __________.

181. The three regions of a male urethra are ______________, ___________, and ______________.

182. The mucosa of the prostatic urethra is _____________.

183. The mucosa of the membranous urethra is _______________.

184. The mucosa of the penile urethra is ______________.

Short Answer

1.  Explain an endocrine gland.

2.  Explain the mechanism for a steroid hormone.

3.  Explain the mechanism for a non-steroid (peptide) hormone.

4.  Explain the negative feedback mechanism.

5.  Explain the positive feedback mechanism.

6.  Describe the two types of diabetes mellitus.

7.  Explain the functions of epinephrine and norepinephrine.

8.  Explain the juxtaglomerular apparatus' effect on blood pressure/volume.

9.  Explain the countercurrent multiplier mechanism.

10. Explain the countercurrent exchange mechanism.

11. Explain the micturition reflex.

